Chapter 7 Mastery Test 1 
#1 Picture of children at the beach made a television out of sand.  The answer is:
B. Because “it’s a logical inference because of the big smiles on the children’s faces.”
I answered: C) the children probably seldom watch real television.  
C. is not the answer because the children are watching the fake TV instead of playing on the beach. So, it suggests that watching real TV is a significant part of their lives. 

#3 Answer is C) physical attraction is often strongest early in a relationship. 
This answer is actually mentioned in the paragraph, I might have missed it while reading it. 

#4 Answer is B) it’s supported by sentences 6&7. 
I answered: A) but it is incorrect because the author does not discuss his or her personal experiences. 
